



WORKSHEET DATA STORAGE

1)  For the declaration -

int A [40] [60] ;

    If the member   A[0][0]   is stored in Bytes   # 1000 and # 1001  [Note: used in C++]
      i)  Where will the member   a[20][50]   be stored -



a)  in row-major format ?

____________________



b)  in column-major format ?
____________________

     ii)  Where will the member   A[31][27]   be stored -



a)  in row-major format ?

____________________



b)  in column-major format ?
____________________

2)  Convert using an 16 bit-


a)  To binary -



  i)  385

|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|



 ii)  20001

|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|



iii) -561

|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|_|


b)  To decimal -



  i)  0000000010110110

________

 ii)  0001101100111001

________



iii)  1111111101010101

________


b)  To octal -



  i)  0001101100111001

________



 ii)  385



________



iii)  20001



________



 iv)  -561



________


c)  to Hexadecimal -



  i)  0001101100111001

________



 ii)  385



________



iii)  20001



________



 iv)  -561



________

